

$$\cos(xz - 1 + ye^z) = ze^{xy} = 0$$

$$[x_0, y_0, z] = [1, 0, 1]$$

$$F(1, 0, 1) = \cos 0 - 1 \cdot 1 = 0 \quad (+1)$$

$$F \in C^1(\mathbb{R}^3) \quad (+1)$$

$$\left. \frac{\partial F}{\partial y} \right|_{(1, 0, 1)} = \left[-\sin(xz - 1 + ye^z) (e^z) - ze^{xy} x \right]_{(1, 0, 1)} =$$

$$= -1 \cdot e^0 \cdot 1 = -1 \neq 0 \quad (+2)$$

\Rightarrow IFF funktion, wobei $\varphi: U \ni [1, 1] \rightarrow V \ni 0$, z. $\varphi \in C^0(U)$ (+2)

$$\varphi(1, 1) = 0$$

$$F(x, y, 1, z) = 0, \quad 1, 1, 1$$

$$\frac{d}{dx} : -\sin(xz - 1 + ye^z) (z + y_x e^z) - ze^{xy} (y + xy_x) = 0$$

$$\Rightarrow -\sin 0 (\dots) - 1(0 + 1 \cdot y_x) = 0 \quad (+3.5)$$

$$\Rightarrow y_x(1, 1) = 0$$

$$\frac{d}{dz} : -\sin(xz - 1 + ye^z) (\dots) - e^{xy} - ze^{xy} (xy_z) = 0$$

$$\Rightarrow -\sin 0 (\dots) - 1 - 1 \cdot 1 \cdot 1 \cdot y_z = 0 \quad (+3.5)$$

$$\Rightarrow y_z(1, 1) = -1$$

$$\text{Teig } T(x, z) = \varphi(1, 1) + y_x(1, 1)(x-1) + y_z(1, 1)(z-1) \quad (+2)$$

$$= 0 + 0 + (-1)(z-1) = 1-z$$

$$f(x, y, z) = x + 2y + 3z \quad M = \{x^2 + y^2 + z^2 = 1, x + y > 1\} \quad f \in C^1(\mathbb{R}^3), M \text{ l.p.d.} \quad (+2)$$

$$\cdot \nabla f = (1, 2, 3) \neq 0 \text{ na } \mathbb{R}^3 \Rightarrow \text{na } M_1 = \{x^2 + y^2 + z^2 < 1, x + y > 1\} \text{ na } \text{podm.} \quad (+1)$$

$$\cdot M_2 = \{x^2 + y^2 + z^2 = 1, x + y = 1\} \Rightarrow N = \{x^2 + (1-x)^2 + z^2 = 1\}$$

$$L(x, z) = x + 2(1-x) + 3z \\ = 2 - x + 3z$$

$$\nabla L = (2(2x-1), z) = 0 \Leftrightarrow [x, z] = [1/2, 0] \in N$$

$$\nabla L = (-1, 3)$$

$$-1 + \lambda(2x-1) = 0 \quad | \cdot 2$$

$$3 + \lambda z = 0 \quad | (2x-1) \quad \left. \begin{array}{l} - \\ - \end{array} \right\} \begin{array}{l} -2 - 3(2x-1) = 0 \\ z = -3(2x-1) \end{array}$$

$$x^2 + (1-x)^2 + z^2 = 1$$

$$2x^2 - 2x + 9(2x-1)^2 = 0 \quad (+4)$$

$$2x^2 - 2x + 9(4x^2 - 4x + 1) = 0$$

$$38x^2 - 38x + 9 = 0$$

$$x_{1,2} = \frac{38 \pm \sqrt{38^2 - 4 \cdot 38 \cdot 9}}{2 \cdot 38} = \frac{38 \pm \sqrt{38(38-36)}}{2 \cdot 38} =$$

$$= \frac{38 \pm \sqrt{38} \sqrt{2}}{2 \cdot 38} = \frac{\sqrt{38} \pm \sqrt{2}}{2\sqrt{38}}$$

$$y_{1,2} = 1 - x_{1,2}, \quad z_{1,2} = -3(2x_{1,2} - 1)$$

$$\cdot M_3 = \{x^2 + y^2 + z^2 < 1, x + y = 1\} \quad M_4 = \{x^2 + y^2 + z^2 = 1, x + y > 1\}$$

$$1 + \lambda \cdot 1 = 0$$

$$2 + \lambda \cdot 1 = 0$$

$$3 + \lambda \cdot 0 = 0 \quad \text{NK}$$

$$x + y = 1$$

$$(+2)$$

$$1 + \lambda x = 0 \quad x = -\frac{1}{\lambda}$$

$$2 + \lambda y = 0 \quad y = -\frac{2}{\lambda}$$

$$3 + \lambda z = 0 \quad z = -\frac{3}{\lambda}$$

$$\frac{1}{\lambda^2} + \frac{4}{\lambda^2} + \frac{9}{\lambda^2} = 1$$

$$\lambda^2 = 14$$

$$\lambda = \pm \sqrt{14}$$

$$[x, y, z] = \left[\frac{2}{\sqrt{14}}, \frac{2}{\sqrt{14}}, \frac{3}{\sqrt{14}} \right] \notin M_4 \quad (+3)$$

~~...~~

$$\underline{\text{Zweiter}}: \quad \epsilon := \frac{\sqrt{38} + \sqrt{2}}{2\sqrt{38}}, \quad \delta := \frac{\sqrt{38} - \sqrt{2}}{2\sqrt{38}}$$

$$\cdot \quad \alpha = [\epsilon, 1-\epsilon, -3(2\epsilon-1)]$$

$$f(\alpha) = \epsilon + 2(1-\epsilon) + 3(2\epsilon-1) = 11 - 19\epsilon$$

(+3)

$$\cdot \quad \beta = [\delta, 1-\delta, -3(2\delta-1)]$$

$$f(\beta) = 11 - 19\delta$$

$$\epsilon > \delta \Rightarrow f(\alpha) < f(\beta)$$

$$\left(\begin{array}{ccc|ccc} 1 & 0 & a & 1 & 0 & 0 \\ 0 & 1 & 0 & 0 & 1 & 0 \\ 0 & 0 & 1 & 0 & 0 & 1 \end{array} \right) \sim \left(\begin{array}{ccc|ccc} 1 & 0 & 0 & 1 & 0 & -a \\ 0 & 1 & 0 & 0 & 1 & 0 \\ 0 & 0 & 1 & 0 & 0 & 1 \end{array} \right)$$

$$\left(\begin{array}{ccc|ccc} 1 & 0 & 0 & 1 & 0 & 0 \\ 2 & 1 & 0 & 0 & 1 & 0 \\ 6 & 4 & 1 & 0 & 0 & 1 \end{array} \right) \sim \left(\begin{array}{ccc|ccc} 1 & 0 & 0 & 1 & 0 & 0 \\ 0 & 1 & 0 & -2 & 1 & 0 \\ 0 & 4 & 1 & -6 & 0 & 1 \end{array} \right) \sim \left(\begin{array}{ccc|ccc} 1 & 0 & 0 & 1 & 0 & 0 \\ 0 & 1 & 0 & -2 & 1 & 0 \\ 0 & 0 & 1 & 8-b & -4 & 1 \end{array} \right)$$

$$\Rightarrow A^{-1} = \begin{pmatrix} 1 & 0 & -a \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} \quad B^{-1} = \begin{pmatrix} 1 & 0 & 0 \\ -2 & 1 & 0 \\ 8-b & -4 & 1 \end{pmatrix}$$

$$\Rightarrow B^{-1}A^{-1} = \begin{pmatrix} 8a-ab & 4a & -a \\ -2 & 1 & 0 \\ 8-b & -4 & 1 \end{pmatrix} \quad \text{a det } B^{-1}A^{-1} = \frac{1}{\det A} \cdot \frac{1}{\det B} = 1$$

$$= \begin{pmatrix} 1 & 0 & -a \\ -2 & 1 & 2a \\ 8-b & -4 & -a(8-b)+1 \end{pmatrix}$$

(f5)

$$\sum (x+1)^n \frac{\sqrt{n}}{n+1}, \quad x \in \mathbb{R}$$

(• $x = -1 \dots$ A.K.)

• pohlavé kritérium, $\frac{|x+1|^{n+1} \frac{\sqrt{n+1}}{n+2}}{|x+1|^n \frac{\sqrt{n}}{n+1}} = \frac{n+1}{\sqrt{n}} \cdot \frac{1}{|x+1|^n} = |x+1| \frac{n+1}{n+2} \frac{\sqrt{n+1}}{\sqrt{n}} \rightarrow |x+1|$

$\Rightarrow x \in (-2, 0)$ A.K.

• ~~kkd~~ $|x+1| > 1$ divergencia

• $x = 0$: $\frac{\sqrt{n}}{n+1}$ srovnáme s $\frac{2}{n}$, jelikož $\sum \frac{2}{n}$ diverguje, diverguje i řada $\sum \frac{\sqrt{n}}{n+1}$

• $x = -2$, $\sum (-1)^n \frac{\sqrt{n}}{n+1}$: $\frac{\sqrt{n}}{n+1} \geq \frac{\sqrt{n+1}}{n+2}$ + $\rightarrow 0$
($1 \leq \frac{1}{\sqrt{n}} \rightarrow 0$)
~~středně pohlavé~~

$$\sqrt{n}(n+2) \geq (n+1)\sqrt{n+1}$$

$$n(n+2)^2 \geq (n+1)^2(n+1) \quad * *$$

$$n(n^2 + 4n + 4) \geq n^3 + 3n^2 + 3n + 1$$

$$n^3 + 4n^2 + 4n \geq n^3 + 3n^2 + 3n + 1$$

$$n^2 + n \geq 1 \quad \checkmark$$

$\Rightarrow \frac{\sqrt{n}}{n+1} \rightarrow 0$ \Rightarrow Leibnizova řada konverguje

A.K. pro $(-2, 0)$: 5 Alo
 $\rightarrow D$

$|x+1| > 1$ nek. - argument?

bod 0: 4

bod -2: 6 2 $\rightarrow 0$
3 \rightarrow
①